
Löse die Aufgaben. Jede Zahl ist ein Buchstabe.

234 536 736 900
- 123 - 283 - 260 - 362

245 654 973 730
- 163 - 267 - 163 - 368

746 978 552 387
- 639 - 231 - 235 - 234

953 837 856 721
- 845 - 267 - 234 - 629

734 948 938 971
- 628 - 289 - 567 - 378

A = 253, 810, 82 L = 92
B = 622 M = 659, 111, 387
E = 108, 371 N = 570, 593, 317, 153
G = 362 O = 747 S = 107
I = 538 R = 476 U = 106

Lösung: S. Lautenschläger 04/2004
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234 536 736 900
- 123 - 283 - 260 - 362

111 253 476 538

245 654 973 730
- 163 - 267 - 163 - 368

82 387 810 362

746 978 552 387
- 639 - 231 - 235 - 234

107 747 317 153

953 837 856 721
- 845 - 267 - 234 - 629

108 570 622 92

734 948 938 971
- 628 - 289 - 567 - 378

106 659 371 593

Lösung:
Maria mag Sonnenblumen
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